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1 218 | 27 1 29.6 | 23 1 38 | 20
2 174 | 21 2 119 { 9 2 34 |18
3 164 | 20 3 8.1 6 3 21 | 11
4 47 6 4 7.7 6 4 1.4 7
5 41 5 5 74 | 6 5 1.2 6
6 32 4 6 70 | 5 6 08 | 4
7 28 3 7 69 | 5 7 0.4 2
8 20 3 8 64 | 5 8 0.4 2
9 10 1 9 48 | 4 9 0.3 2
10 8 1 10 38 | 3 10 0.3 2
11 7 1 11 2.4 2 11 03 2
12 7 1 12 2.3 2 12 0.2 1
13 7 1 13 2.0 2 13 0.2 1
14 6 1 14 1.3 1 14 0.2 1
15 4 0 15 0.7 1 15 0.1 1
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17 3 0 17 06 | O 17 0.1 1
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¥156,340 ¥276,550 ¥432,890
(¥162,000) ¥32,400 ¥32,400
(¥143,000) ¥173,794 ¥173,794
¥156,340 ¥482,744 ¥639,084
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